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bXWnT lMwÄT Xn@ BÒ úLçN 
XWnTN y¸ÃWq$ h#l# l¸wÄ*T lt 
mr-CW Xmb@TÂ lLí—¿ 2bWSÈ 
CN k¸ñRÂ kX¾ UR lz§lM k¸çN 
XWnT ytnœ½ 3kXGz!xB/@R xBÂ yxB 
LJ kçnW kx!ys#S KRSèS [U½ M?r 
TÂ s§M bXWnTÂ bFQR kX¾ UR 
YçÂLÝÝ 
   4kLíC> xNÄNìc$ kxB bts-N 
TX²Z m\rT bXWnT [NtW XyÿÇ 
b¥Gßt& XJG dS BlÖ¾LÝÝ 5xh#NM 
Xmb@T çY¿ kmjm¶Ã ynbrCWN  
XN©! xÄ!S TX²Z xL{FL>M¿ Y, 
WM XRS bRúCN XNêdD zND nWÝÝ 
6YHM FQR¿ bTX²²t$ m\rT XNm§lS 
zND nWÝÝ TX²z#M kmjm¶Ã XNd      
s¥Ch#T bFQR XNDTñ„ nWÝÝ  
    7x!ys#S KRSèS b|U XNd mÈ y¥ 
ÃMn# Bz# xúÓC wd ›lM w_têLÝÝ  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

XNÄ!H Ãl ¥N¾WM sW x¬§YÂ yKR 
SèS t”ê¸ nWÝÝ 8XÂNtM ydk¥ 
Ch#bTN êU XNÄ¬-#½ ngR GN Ñl# 
>L¥T XNDTqbl# l‰úCh# t-Nqq$ÝÝ 
9bKRSèS TMHRT y¥YñRÂ kTMH 
Rt$ y¸wÈ h#l# xM§K ylWM¿ bKR 
SèS TMHRT y¸ñR GN xBM wL 
DM xlWÝÝ 10¥NM wd XÂNt b!mÈ½ 
YHNNM TMHRT ÆÃmÈ bb@¬Ch# 
xTqbl#T¿ s§MM xTbl#T¿ 11y¸q 
blW sW½ yKû |‰W tÆÆ¶ YçÂ 
LÂÝÝ    
   12yM{F§Ch# Bz# ngR nbr"¿ 
Yh#N XN©! bwrqTÂ bqlM XNÄ!
çN xLfLGM¿ Ä„ GN dS¬CN F[#M 
YçN zND wd XÂNt m_c& ðT lðT 
§nUG‰Ch# tSÍ xdRUlh#ÝÝ 
   13ytmr-CW yX~T> LíC s§ 
M¬ ÃqRb#LšLÝÝ 
 

 

  

1,1 qº3Ý13¿  
×/8,32¿ 
/|11,30¿ 
é»16,13¿ 
1-!ä 2,4¿ 
1’@_5,13¿3×/1 
1,2 ×/14,17¿ 
2’@_1,12¿1×/1,8 
1,3 é»1,7 
1,4 ×/3,4 
1,5 1×/2,7 
1,6 ×/14,15¿ 
1×/2,5Ý7 
1,7 ×/1,14¿ 
1×/2,18Ý22¿ 
4,1Ý2Ý3 
1,8¥t&10,42¿ 
¥R 10,29Ý30¿ 
1öé3,8¿:B10,35Ý
36¿11,26 
1,9 ×/8,31¿ 
1×/2,23 
1,10 é»16,17 
1,11 1-!ä5,22 
1,12 ×/3,29¿ 
3×/13Ý14 
1,13 qº1 
  

 

y/êRÃW ×/NS mLXKT – h#lt¾ 


